
1

Issuance date:	 27.01.2025
Validity date:	 27.01.2030

http://www.itb.pl
http://pl.nowystyl.com/en
https://www.eco-platform.org/home.html
https://www.itb.pl/deklaracje-srodowiskowe-2/


2



3



4



5



6

DESKS

LEGEND:

TABLES CABINETS CONTAINERSPANELS CONFERENCE
CHAIRS

SWIVEL
CHAIRS

WOODEN
COMPONENTS

SOFAS

PLASTIC COMPONENTS,
FABRICS

CHAIR BASES

MECHANISMSARMRESTS

GAS LIFTS

SOFA INNER CONSTRUCTIONS

FURNITURE FACTORY
JASŁO

CHAIR FACTORY
JASŁO

MDF CHIPBOARD

VENEERS
LAMINATES
ABS EDGES
ADHESIVES

OTHER

STEEL
EPOXY COATINGS

CHROME VI COMPONENTS
INJECTED FOAM COMPONENTS

PU FOAM BLOCKS
OTHER

PURCHASED
COMPONENTS

PURCHASED
COMPONENTS

WOOD LOGS
ADHESIVES

STAINS
ENAMELS

LAMINATES
VENEERS

OTHER

DESK AND TABLE BASES SWIVEL
AND CONFERENCE CHAIR BASES SEAT,

BACKREST,
HEADREST,

ARMREST PADDINGS

METAL FACTORY 
JASŁO

WOOD FACTORY
RZEPEDŹ

INNER CONSTRUCTIONS
SEATS

BACKRESTS
WOODEN LEGS
ARMREST PADS

OTHER

PURCHASED
COMPONENTS

SOLD
PRODUCTS

PRODUCED
COMPONENTS



7

  



8

 
 

 
 

 



9

  

 

Environmental impacts : (DU) 1 meeting chair (weight : 7.23 kg*)

IMPACT CATEGORIES UNIT A1-A3 A4-A5 C1-C4 D

Particulate matter disease incidence INA INA INA INA

Potential human exposure efficiency  
relative to U235

INA INA INA INA INA

Potential comparative toxic unit for 
ecosystems

eg. kBq U235 INA INA INA INA

Potential comparative toxic unit for humans 
(cancer effects)

CTUe INA INA INA INA

Potential comparative toxic unit for humans 
(non-cancer effects)

CTUh INA INA INA INA

Potential soil quality index CTUh INA INA INA INA



10

Environmental Product Declaration Type III ITB No. 753/2025

*Product weight includes: material, packaging waste and all packaging materials

03/LIFE CYCLE ASSESSMENT(LCA)

RESULTS

TABLE 4
Life cycle assessment (LCA) results for specific product.

Environmental impacts : (DU) 1 meeting chair (weight : 7.23 kg*)

ASPECTS UNIT A1 A2 A3 A1-A3 C1 C2 C3 C4 D

Consumption of renewable primary energy - 
excluding renewable primary energy sources 
used as raw materials

MJ 2.61E+01 6.45E-02 3.84E+00 3.00E+01 5.41E-02 1.54E-02 1.73E-02 2.65E-04 -2.01E+01

Consumption of renewable primary energy 
resources used as raw materials

MJ 1.43E+01 0.00E+00 0.00E+00 1.43E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Total consumption of renewable primary 
energy resources (primary energy and primary 
energy resources used as raw materials)

MJ 4.30E+01 6.45E-02 3.84E+00 4.69E+01 5.41E-02 1.54E-02 1.73E-02 2.65E-04 -2.01E+01

Consumption of non-renewable primary 
energy, excluding non-renewable primary 
energy resources used as raw materials

MJ 5.45E+01 3.81E+00 5.87E+01 1.17E+02 7.89E-01 9.09E-01 3.14E+00 1.76E-02 -3.86E+01

Consumption of non-renewable primary 
energy resources used as raw materials

MJ 2.68E+00 0.00E+00 5.87E+01 6.14E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Total consumption of non-renewable primary 
energy resources (primary energy and primary 
energy resources used as raw material)

MJ 1.99E+02 3.81E+00 5.87E+01 2.61E+02 7.89E-01 9.09E-01 3.14E+00 1.76E-02 -3.86E+01

Consumption of secondary materials kg 3.50E+00 1.74E-03 0.00E+00 3.50E+00 0.00E+00 4.16E-04 2.98E-05 3.77E-06 1.61E+00

Consumption of renewable secondary fuels MJ 2.76E-03 2.20E-05 0.00E+00 2.78E-03 0.00E+00 5.25E-06 5.21E-07 1.07E-04 4.15E+00

Consumption of non-renewable  
secondary fuels

MJ 9.40E-02 0.00E+00 0.00E+00 9.40E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.44E-01

Net consumption of freshwater resources m3 1.58E-01 5.05E-04 2.20E-02 1.80E-01 2.42E-04 1.21E-04 1.42E-04 2.05E-05 -1.19E-02

Environmental impacts : (DU) 1 meeting chair (weight : 7.23 kg*)

WASTES UNIT A1 A2 A3 A1-A3 C1 C2 C3 C4 D

Hazardous waste, neutralised kg 1.94E+00 5.48E-03 5.09E-03 1.95E+00 1.54E-07 1.31E-03 3.63E-03 1.75E-05 -2.39E-02

Non-hazardous waste, neutralised kg 1.05E+01 1.16E-01 3.71E-01 1.10E+01 4.40E-03 2.76E-02 1.04E-01 3.42E-03 -9.75E-01

Radioactive waste kg 1.76E-04 1.21E-06 4.59E-05 2.23E-04 6.38E-07 2.90E-07 2.03E-05 1.18E-07 -3.48E-05

Components for re-use kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Materials for recycling kg 3.86E-04 2.86E-05 2.74E+00 2.74E+00 0.00E+00 6.82E-06 8.34E-04 3.21E-08 -6.30E-02

Materials for energy recovery kg 2.45E-05 2.41E-07 0.00E+00 2.47E-05 0.00E+00 5.77E-08 1.63E-09 4.10E-10 -1.89E-07

Energy exported MJ 1.54E+01 1.59E-03 0.00E+00 1.54E+01 0.00E+00 3.79E-04 3.18E-01 1.82E-05 -2.34E-02



11

Environmental Product Declaration Type III ITB No. 753/2025

The process of verification of this EPD was in 
accordance with ISO 14025 and ISO 21930. After 
verification, this EPD is valid for a 5-year-period. 
EPD does not have to be recalculated after 5 years 
if the data have not changed significantly.

The basis for LCA analysis was ISO 14040 and ITB PCR A

Independent verification corresponding to ISO 14025 (subclause 8.1.3.)

externalX internal

External verification of EPD: Ph.D. Eng. Halina Prejzner

LCI audit and verification: M.Sc. Eng. Michał Chwedaczuk

LCA, LCI audit and input data verification: Ph.D, D.Sc.Eng. Michał Piasecki

04/VERIFICATION

NORMATIVE REFERENCES

>> �EN 15804:2012+A2:2019 Sustainability of con-
struction works – Environmental product decla-
rations – Core rules for the product category of 
construction products

>> �PN-EN 15942:2012 Sustainability of construction 
works – Environmental product declarations – 
Communication format business-to-business

>> �KOBiZE Emission factors of CO2, SO2, NOx, CO 
and total dust for electricity, December 2023.

>> �ITB PCR A General Product Category Rules for 
Construction Products

>> �ISO 14025:2006, Environmental labels and dec-
larations – Type III environmental declarations 
– Principles and procedures

>> �ISO 14040:2006 Environmental management – 
Life cycle assessment – Principles and framework

>> �ISO 14044:2006 Environmental management 
– Life cycle assessment – Requirements and 
guidelines

Note 1: The declaration owner has the sole ownership, liability, and responsibility for the information pro-
vided and contained in EPD. Declarations of construction products may not be comparable if they do not 
comply with EN 15804+A2. For further information about comparability, see EN 15804+A2 and ISO 14025. 

Note 2: ITB is a public Research Organization and Notified Body (EC Reg. no 1488) to the European 
Commission and to other Member States of the European Union designated for the tasks concerning 
the assessment of building products’ performance. ITB acts as the independent, third-party verification 
organization (see ISO 17025/17065/17029). ITB-EPD program is recognized and registered member of 
The European Platform - Association  of  EPD program operators and ITB-EPD declarations are registered 
and stored in the international ECO-PORTAL.



12


		2025-03-04T15:26:29+0100




